A3z s P AR 55 F i

Product No.: 12020



User Manual BB PRFEH

Table of Contents B F*

1 CE declaration  CE FFHH ..ouiiiiiiiiiii ittt ettt e et e et e et e et e et et e et be e b e erae e 3
2 Technical Data  FIARZBHL ..o 4
3 Environmental Adaptability FFBEIERLAE TT ..oeioee i 5
4 Working PrinCiple  TAEJERIRB ...ttt ettt ettt re e 6
5 Functionality INtroduction  ZIHE AT .oooneiiee e 7
a)  PoWer SUPPIY  HEJE LB ..o oottt 7
b)  Fan Speed vs. Cabinet inside temperature Curve JXURHH Vs. PUH AR BZE ..o 7
c) HEX Start-up behaviour FAZHEE LB ERIMIT o oo 8
o ) A =T 0 T TSSO PUPUPPPPPRN 8
€)  MONIOMING o oo ettt e e e et e e e e e e e e e e e e et et e aee e e e et nrreaaaaeaaaaan 9
£)  LIGRENG TSI ceoeeeeeee oottt 10
6 Interface Introduction  FETHIUEH .....eeeeiiii et e e 11
a) Electrical Interface — Circuit diagram as below — HLEEHRZEHE ] ..ooeeiiiiiie e 11
D) POWEE INPUL  HLTH .ottt ettt e et e et e et e et e e et e et et e e et eeeaeeans 11
7  Preventative Maintenance THBHTEZED .......oo i 12
8  Replacing of Components  Z BB BB ..o 13
10.1 How to replace the internal fan AT B BT RU c.oeieeieie e 13
10.2 How to replace the external fan T B AR XUET «.oveeieeie e 13

10.3 How to replace the PCB- Printed Circuit Board — @IfA EEHZEEEAR ..ooovvvveeiiiie e 14



User Manual BB PRFEH

1 CE declaration CE &=Hj

Declaration of Conformity

We herewith declare the following products:

Product No.: 12020

is in conformity with the following directives:

98 /37 / EEC | Machine Directive EN 292, Machine
Safety

73 /23 /EEC |Low Voltage Directive EN 60 335-1, Low
Voltage

89 /336 / EEC EMC-Directive EN 60 335-2-40, Low
Voltage

87 /404 / EEC | Simple Pressure Vessels EN 61000-6-1,
Immunity

97/23/EEC The Pressure Equipment Directive, article 3, EN 61000-6-4,

section 3. Emission

The Pressure Equipment Directive, category 1
The Pressure Equipment Directive, category 2

and was manufactured in conformity with the following harmonised standard:
furthermore manufactured in conformity with the following disharmonised standard:

2002/95/EC RoHS Directive
2002/96/EC Waste of Electrical and Electronic Equipment (WEEE)

and furthermore declares that it is not allowed to put the machinery into service until the
machinery into which it is to be incorporated or of which it is to be a component has been found
and declared to be in conformity with the provisions of above-mentioned Directives and with
national implementing legislation i.e. as a whole, including the machinery referred to this
declaration.

Place and date Technical Responsible Person




User Manual BB PRFEH

2 Technical Data FASH

Model No. (Ri5) : 12020
Rated voltage AC /| ZZHi#iE EE NA
Frequency AC /I IR NA
Rated current AC // ZZHHE BT NA
Start-up current AC /| XREFHRK NA

Rated voltage DC /| Ef#fiEHEE

-48 V DC Nominal
(- 38.4VvDC ~ - 57.6 VDC)

Rated current DC /| ER#E R 2.0A
Start-up current DC /| H# &3 B % 2.4A
Dimensions(include flange)
IR~ (BE8:2)
Long mm // K& mm 83?13;
Width mm // %&£ mm 153

Depth mm // I%JE mm

Installation type /| ZFEHFR

Door inside mounted // [13#4 N ER

Casing Material // #1%}

AL5052+RAL 7035 powder painting//m#;

Cooling capacity // ##MEgE 40W/K
Heating // In#gE /1 NA
Cold start function //¥ 2 3hThE NA
Temperature range // EETEE -40°C ~ +65°C

Alarm connector /| 5480

Photo coupler type : 9-Pin AMP D-Sub
Dry Switch type : SUPU 475408/010

AC connector /| ZfEO

NA

DC connector /| BEf#EO

SUPU 475408/010

Protection category (Ext. circuit /

Int. circuit) /| BEHFEZSMU 1 )

IP55

Weight /| EE

15kg




User Manual BB PRFEH

3 Environmental Adaptability ¥ iE&EMN e ST
The product is designed according ETS 300 — 193
PR S ETS 300 — 193

Items // TH Unit // B4 Range // SEF
Long term Running
o T -10 ~ +55
Temp. Ky 8] TAE
T Short term Running
T -40 ~ +65

FELI 1) TAF:

Long term Running %RH 5 g5
A ~

Humidity K 1) A
MRz Short term Running %RH 5 o5
J e A A
Sea Level /| #4kE % m <3000
Air Speed /| S IMIE m/s <5.0
Solar Radi // BH#z 4 Wim? <1120
Heat /I #\fE W/m? <600

Note: short term means 4 days continuous working or accumulated working time less 15 days within
one year.

T R RRARIES TR 4 REe —E R THERED T 15 K.




User Manual BB PRFEH

4 Working Principle T/EE¥E

W2 Solar load
iiﬁﬂﬁl?;///
W heat dissipated through

plates / B/- A £ HHE ELECTRONICS CARINET

AN

[Ej =15 Return Air
7
Te: Exhaust Air HESEA N W3: Heat dissipated through
B4 i ' 7 cabinet / BB B &
Ve
; Ts: Supplier Ai
Ta: Ambient Air £ o Noe=To: Supplier Alr
FHE S b, @ s H R
W1 Internal :-::,Lw_l
Heat transfer plates Heat Load..—] 4%
- A

Heat exchanger is mostly used for enclosed area cooling, HEX is designed especially for mounting

in a cabinet. The unit uses ambient air for temperature regulation so it must have access to ambient.
The internal temperature of the enclosure is cooled via effective utilization of the ambient air. An
air/air counter-current plate heat exchanger is used to transfer the heat. Two centrifugal fans, one
for the internal circuit and one for the external circuit provide ventilation.

FAKE e 0 H A 5 3 DX PR TR, A e 88 R L AR T BT AR it o AR A 8 85 DAL 5 B2 PR B U B2
BEAT T, BIL T A — Ml 55 A . A B P R M SE B A . N MBI

T 0o DX A 2 A7 ARV R v ) B A A B ST AR ) A% 3

The heat exchanger module is designed in such a way that the speed of the external circuit fan is
controlled according to temperature, based on the pre-set pattern.

FASZ s P9 XU 0 XU R B A ), A3 T — A R R r R ST et A



User Manual FAFPF}

5 Functionality Introduction IhEENZH

a) Power Supply HJRftH
The unit should be feed with 48V DC power source.
AT 35 7548V DCALH

b) Fan Speed vs. Cabinet inside temperature Curve XU ## Vs. HUAE P 3515 i 2%

Int. fan RPM
PR XL A

200

2600

1500

Inside Temp. 4 3B %
25 50 55
Inside Temp. A i &
P X
Ext. fan RPM
Sh R A

2700 B P [

2600 4]

1500
B
1
1
1
I
1
V —>

25 30 50 55
Inside Temp. 4 ¥BiR %
LAYz




User Manual BB PRFEH

The fan speeds are monitored via the tacho output from the fans. This tacho signal is also used to
generate a fan failure signal if deviation is more than -20%. The PWM carrier frequency is 1KHz.
AR i T AU PR T TR A ORI Y, MR R ZE-20% DA BB, XN AR E S AN KRR UE S . AN
1K 2% -

c) HEX Start-up behaviour #H3r#u88% B HIRF

After unit switch-on the temperature sensor will self test; then the external fan speed will accelerate
continuously up to (R o), then stop running, this will take about 15s; after that, internal fan will
accelerate continuously up to (R ow), then stop running, this will take about another 15s. The
controller will test whether unit get temperature sensor, fan failure. It will initiate alarming once any
of them got problem. During testing process, the green LED will light in 3Hz speed, after self-testing
finished, it will keep lighting. Red alarming LED will be on if alarming signal generated. Once self

testing finished, then the unit will turn to normal operation.

Note: Self testing process will be conducted once “TEST” button been pressed continuously 5s on

front control panel.

WAy — BB, RS Bk, AR RN R shis AT B e, RR1EIE, TS 15 1)
JERWRALUESI A, RJEfELE, Bk Reg: 1680, ik BRI, fEdl BoukIb e S ARG . KU
b, AR EELED DSHz BN, RS H s A ks, ZLELED AR, &8, o, 24T

WL, IEWIBAT.

Ve BRI R AT DO K g AR LA TEST #5680 R L.

d) Alarm $H%¥
All components failure will be detected through 9 Pin Sub-D ports.

B WA PR E AR B &7 R, SEE S 89 R M

® NO type Alarm NOZRUHz %

Alarming type: normally open, Photo coupler type.

Unit Alarm will be activated when component failure happen, the red LED light at the same time.
For example, the internal fan alarm, the external fan alarm, as well as temperature alarm. The alarm

can output through alarming cable that connection customer monitor unit and HEX.

HEIT A IEWROT, JuRERR R .
U SRAT AT — AT AR, 0 P KU o A XU T R S T, ERR P R RS RN AT . B
I RE A T l IERRR  E E B MRS et Z AL o B 2



User Manual BB PRFEH

Alarm definition fRZ ¢ X:

No. | Pin Number Name Alarm definition Notes
1 Pin 1 T/R+ RS485 communication port A
2 Pin 2 T/R— RS485 communication port B
3 Pin 3 GND Signal GND of Control system
4 Pin 4 ALARM1 Chief Alarm
5 Pin 5 ALARM2 Internal fan Alarm
6 Pin 6 ALARM3 External fan Alarm
7 Pin 7 ALARM4 Heater Alarm NA
8 Pin 8 ALARMS Temperature Alarm 80 & 00 degree
9 Pin 9 ALARM-COM |Alarm signal common port

® Relay of no polarity dry switch function JGA& %17 55 4k H 2 T R
Function 1: NO type Alarm

Alarming type: normally open, no polarity dry switch type.

The alarm type is only for chief alarm, it is can not know which component failure happen when
alarm is activated.

hfg1: NORIRE

TR IEWATIT, TRk 45 Ak F A R B A i

AR 7 AU T, IR I AN BE A B AR R AR AR, R AN Ak AR

Function 2: The relay can be feed with loads, but the load should meet the following requests:
1. Max. Voltage : 250VAC / 220VDC

2. Max.Power:45VA | 45W

3. Max. load current:2 A

Thae2: 4k n L (0, (G IR 2 R 21 4% A
1. HKHJE: 250VAC /220VDC

2. mKIj%F. 45VA [ 45W

3. RAMEHG: 2A

e) Monitoring K&
The unit can be monitored by software through RS485 port, just get connect with 9 Pin Sub-D.

Please consult to the manufacture for more information.
AT P AT R, R R IERERS485 #2110 A9 Pin Sub-D R 1. iEBCAR) w ASKIE 2 1S

i o



User Manual BB PRFEH

f) Lighting 54T

There are two LEDs on control board, see below definition:

FEFE IR _EA IR IR AT, 35255 LT I5E X

LED Label Color Status Definition
e B, RE 7E X
Power indicator RUn Green on Normal operation // IE# 1847
LED - s 3 Hz lighting Self testing // B
VRN ] B Off /] % No power feed // 7 HLJE L4
Off /] =% No alarm // Joi5%
Lighting times
11 TR R
INT.Fan defected // X
1 times
i
Alarming Indicator On 3 times EXT.Fan defected // 4MXU L
LED Alarm Red e
P T = Temperature sensor defected
F Sitimes 11 35 s B
High temperature alarming //
9 times e R
Low temperature alarming //
10 times {47

Note:

The lighting times of alarming indicator describe on the above form is means:

To 3HZ frequency, separated in time 2S consecutive flashes.

ik

FE IR A R IR 1) 5 R T IR ICECE U DA BHZ BYBRIK,  AE 2 FR I [a] 18] B 5 4 42 I SR TR

N
i&‘)




User Manual BB PRFEH

6 Interface Introduction F1H Vi
a) Electrical Interface — Circuit diagram as below  Hi iR 2% 5 &

ot
Ol
NO

o o o o

- blue O
white o
%: black bWP;
red hite
lac

red

T/ INY 41X 3

blue—
hit
lac
red

INVAINT ENY A INI INW[X} SNV 41X

Q¥V0d TOYINOD YADNVHOXH LVAH

10900000

=
- ) blge
- oLwhite
™ o, [hlack
Z opred blue E:
= |8
= row N
= t o
blue
brrown
OO0 O 0O 0
olO OO O Olp

OND =48v wearm qut

b) Power Input HJ§
Below size circuit breakers are suggested to install before unit:
R ULAE AL FH RS e 2 Rl 2225 DL RIS FRO BT % s -

Fuse 12020

DC fuse >=12 Amps




User Manual BB PRFEH

c) Mechanical Interface 3% A H

K

| 155 4 F&“Lﬂ
= 5 g [ ry 3
° o S o T BEE ) ° N .
o ..
anian | = =
o |
) ':":::Ey # :
B i 1845 IR
¥ s 2 8 o 1
3 4
- o | 2hs |
g 3|
o = 3
] f—r 5 LI 143 o
[} L
L] L'} :
B505-44-1 =
L) rounding L
) grounding |
ht e
& L]
\h s s s ] e} s Q% ), g5
Y BS0S-M4-1 102.7 10-BS0S-ME-1 200 % drainpipe

\__grounding View from inside F un}ing hole i 1
-j:—j”—‘— View from outside

7 Preventative Maintenance Fipi k4

It is recommended to perform preventive maintenance on the unit twice a year (depends on the

location of the site and the nearby surroundings) and the following should be done:

TS A% R TP 4EAP — IR OIS T 2 X b B A BRI 3R ) @ 58 BL R LA

1.

Listen to the fans while in operation. The sound should be constant and with very little fluctuation
otherwise the fans are out of balance and should be replaced;

PR B AT IR T XURE B 75 5 o P i LIRS B R Bl A5 U XU A0 Ok 25 i o B 4
Switch all the circuit breakers related to the climate unit off;

K 5 A e A T B (1) P AT it

Remove the internal and external fan;

PrBR A AU 5

Clean the blades of both fans using a brush, compressed air and a vacuum cleaner;

FHBR 47 ORI B 73 IR 2R 9 it XU 1R P s

Clean the heat transfer core using a small brush, compressed air and a vacuum cleaner, the air
pressure should less than 0.5bar;

RN R B985 MBS R RS S G, 48 S s 75 /T 0.5bar;

Mount the fans back again;



User Manual BB PRFEH

1 XU e 4

7. Switch the unit ON again. Once self testing finished, then the green LED on, the red LED off, the
unit turn to normal operation.
Btk a. BTG, SITH =, IR, PCHREEIERFIET.

8. Finish.

i

8 Replacing of Components ZE3[{4 K B

Note : Make sure that all circuit breakers related to the climate unit are switched off before you

start.
Ry S R R R A A T I BT 4 R T Int.fan panel X,
5 55 AR

10.1 How to replace the internal fan [ &E#H K
X

Before you start make sure that you have the following

available:
AE B8 2 F T R AR S5 DA TR AN %
v" Cross screwdriver of M4, sleeve of M4;
M4 kiR 22 ¥, M4 B,
v A new fan (insure the same type)
—ANETI A R ORAR R A 85

1. Unscrew the M4 bolts placed on the panel,

remove the panel;
EH SR RRET, K AR B

2. Unplug the fan connector, unscrew the M6 bolts

on the fan fixed board, then remove the panel
subassembly;
P R i, S KU R B MR, SRS
K AR ER
3. Disassemble the fan from the subassembly;
K KU MR A B3R R
4. Mount the new fan by following step 1 . 2and 3

f I’rl[ 11}

il (i

Fal |'.r’

in reverse order.

T2 1-3 (IR B D BRZ B8 (K XU

4-M4 Nuts
4-M4 12 £}

10.2 How to replace the external fan  fa &4k
R



User Manual BB PRFEH

Before you start make sure that you have the Ext.fan

panel 4

following available: B 5 AR

FESE e 2 WS OR A U TR B &

v' Cross screwdriver of M4&M6  M4&M6
RN AN

v' A new fan (insure the same type) —/>
BRI (R PRI 5 A 9D

1. Unscrew the M4 bolts placed on the panel,
then
remove the panel; (see below pictures)
RPN HIIRET, A AR R BR

2. Unscrew the M6 bolts on the fan fixed board,

4-M6 Bolts
unplug the fan connector, then remove the subassembly; 4-M6 A 5 IRET

R RET, S R 1, AR R LR BR
3. Disassemble the fan from the subassembly;

K IRV ZELA B3R s
4. Mount the new fan by following step 1 . 2 and 3

in reverse order.

{28 1-3 (FIAH Beob TR S B (1 KUBS o

Int.fan
panel I
KU 754

10.3 How to replace the PCB- Printed Circuit Board #1{f 5 # £ B
Before you start make sure that you have the following available:
E 5 e 2 AR ORI AT LA TR %
v Cross screwdriver of M3&M4, sleeve of M4;
M3&M4 kg 2z v , M4 B,
v A new circuit board (insure the same type)
—ANHTILR IR AR (R 2S5 AH R
1. Unscrew the M4 bolts placed on the Int.fan panel,
then
remove the panel; (see below pictures);
o KU mE AR HTRRAT R R R
2.Unscrew the M6 bolts on the fan fixed board,
unplug the internal fan connector, then remove the subassembly;

EIE PRI R B8 _E IR ERE, S WU e T, SR JE R AL IR ER 5



User Manual BB PRFEH

. Disassemble the circuit board from the

. Unplug all the connectors on the circuit board

and then remove the subassembly from the T TR AR

Communication

board M3 bolts

unit;
W 28 B A b BT T, R 2R B AR A AR R
Bis

subassembly;
W 2R B R M A EIRBR

. Mount the new circuit board by following

o

step

1. 2. 3 and 4 in reverse order.

I 1-4 1A 20 TR BE M 2R AR

X

Internal fan

FEHIR
Main Control Board
4-M3 bolts




